

Letting:

08240409

Florida Department of Transportation

04/16/2024

Page 1 of 1

Vendor Ranking

Call Order: 003 Contract: E8V10-R0

District: Turnpike Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 19288817210 (*)

Contract Desc: Mowing and Litter Removal- SR 869 Sawgrass Expressway

April 09, 2024 02:30 PM

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	Responsive	Winning bid	\$338,095.16	100.00% Inten	nt to
2	SOUTH FLORIDA BUSHOG SERVICE, INC.	Responsive	Non-Winning Bid	\$401,167.00	118.66%	
3	GROW CARE OUTDOOR SOLUTIONS, LLC	Responsive	Non-Winning Bid	\$513,797.50	151.97%	
4	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$646,126.00	191.11%	
5	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$699,851.00	207.00%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: APRIL 16, 2024 AT 4:00 PM



Florida Department of Transportation

04/16/2024

Tabulation of Bids

Page 1 of 3

Letting: 08240409 April 09, 2024 **Call Order:** 003 **Contract:** E8V10-R0

District: Turnpike Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 19288817210 (*)

Contract Descr: Mowing and Litter Removal- SR 869 Sawgrass Expressway

The work specified in this Contract consists of providing all labor, materials, equipment, and incidentals necessary to perform routine mowing and litter removal along the roadside and slopes of the Sawgrass Expressway (SR-869), from Milepost (MP) 0.0 to 21.8.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT

Line No / Item ID Alternate Quantity Item Description Units			T PROPERTY (2) SOUTH FLORIDA BUSHOG SERVICE, INC.			(3) GROW CARE OUTDOOR SOLUTIONS, LLC			
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC					
0005 MOWIN	E107 2 1 NG (LARGE MA	ACHINE)	9,900.000 AC	4.24000	41,976.00	7.00000	69,300.00	19.00000	188,100.00
0010 MOWIN	E107 2 2 NG (SLOPE)		1,500.000 AC	18.24000	27,360.00	17.00000	25,500.00	75.00000	112,500.00
0015 MOWIN	E107 2 4 NG (SMALL MA	ACHINE)	526.500 AC	18.24000	9,603.36	38.00000	20,007.00	65.00000	34,222.50
0020 LITTER	E110 30 REMOVAL		35,795.000 AC	7.24000	259,155.80	8.00000	286,360.00	5.00000	178,975.00
		E MACHINE Se DWING (AC)	ection Totals:		\$338,095.16		\$401,167.00		\$513,797.50

Contract Grand Totals:	\$338,095.16	\$401,167.00	513,797.50
Contract Grana Totalo.	***************************************	, , , , , , , , , , , , , , , , , , ,	



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

Letting	g : 08240409	April 09, 2024	Cal	l Order: 003		Contract:	E8V10-R0	
	No / Item ID Alternation	ate Quantity Units	(4) SUPERIOR L & LAW		(5) T & M LAV SERVIC			
() inc	licates item is bid as Lump Sui	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC								
0005 MOWIN	E107 2 1 G (LARGE MACHINE)	9,900.000 AC	24.00000	237,600.00	10.00000	99,000.00		
0010 MOWIN	E107 2 2 G (SLOPE)	1,500.000 AC	66.00000	99,000.00	150.00000	225,000.00		
0015 MOWIN	E107 2 4 G (SMALL MACHINE)	526.500 AC	44.00000	23,166.00	34.00000	17,901.00		
0020 LITTER	E110 30 REMOVAL	35,795.000 AC	8.00000	286,360.00	10.00000	357,950.00		
	0001 LARGE MACHINE MOWING (AC)			\$646,126.00		\$699,851.00		

Contract Grand Totals: \$646,126.00 \$699,851.00



Florida Department of Transportation

04/16/2024

Tabulation of Bids

Page 3 of 3

Letting: 08240409 April 09, 2024 **Call Order:** 003 **Contract:** E8V10-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.